ADVANCED HIGHER MATHEMATICS
Solutions to Exam Questions on the Binomial Theorem
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Note

In order to fully simplify the expression for the general term, you must write 4 as 
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 and combine the powers of 2.

20.
We must prove that the LHS of the identity is equal to the RHS.


First simplify each of the binomial coefficients on the LHS using the formula 
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LHS = RHS,   hence   
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21.
We must prove that the LHS of the identity is equal to the RHS.


First simplify each of the binomial coefficients on the LHS using the formula 
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[divide all terms in the fraction by 3 to simplify]
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Now simplify the binomial coefficient on the RHS.


RHS
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LHS = RHS,   hence   
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